City of Frisco - Bid Tabulation

1811-021

Opened - 12-14-17 @ 2:00 PM

Bid Number -

Jim Bowman Construction 2716 S. Rigsbee Dr. Plano,TX 75074 972-423-1313 Adrian@bowmanconstruction.com KT Contracting 1521 Mckinney St. Ste# 100 Melissa, TX 75454 972-562-9100 Brynne.gutierrez@tallentroofing.com

Part 1

Tait								
Item	City Spec	Description	Unit	Est Annual Qty	Unit Price	Extended Cost	Unit Price	Extended Cost
1	321313	Remove and replace 8"- 10" Concrete pavement, quantity of 0-50 square yards	SY	250	\$126.65	\$31,662.50	\$99.00	\$24,750.00
2	321313	Remove and replace 8"- 10" Concrete pavement, quantity of 50+ square yards	SY	2000	\$116.65	\$233,300.00	\$99.00	\$198,000.00
3	321313	Replace 6" curb (monolithic with pavement)	LF	500	\$7.00	\$3,500.00	\$9.75	\$4,875.00
4	321313	Remove and replace alley pavement	SY	500	\$97.00	\$48,500.00	\$89.00	\$44,500.00
5	321116	Flex-Base, (Type D grade I or II) delivered and compacted in place	SY	2500	\$47.00	\$117,500.00	\$18.00	\$45,000.00
6	321650	Remove and replace 4' sidewalk to include 2" of cushion sand	SY	800	\$78.50	\$62,800.00	\$76.50	\$61,200.00
7	マンチんちい	Remove and replace 6' sidewalk to include 2" of cushion sand	SY	50	\$78.50	\$3,925.00	\$81.00	\$4,050.00
8	マンチトトロ	Remove and replace 8' sidewalk to include 2" of cushion sand	SY	50	\$88.10	\$4,405.00	\$81.00	\$4,050.00
9	321313	Remove and replace 18" curb and gutter only, to include 6" curb.	LF	100	\$50.00	\$5,000.00	\$49.00	\$4,900.00
10	321313	Remove and replace 8"- 10" concrete for pavement (High-Early Concrete)	SY	100	\$123.00	\$12,300.00	\$120.00	\$12,000.00
11		Remove and replace 6" concrete for drive approach up to Right of Way (High-Early Concrete)	SY	100	\$99.35	\$9,935.00	\$85.00	\$8,500.00
12	321650	4"-6" exposed aggregate 3000 psi concrete	SY	15	\$91.75	\$1,376.25	\$75.00	\$1,125.00
13		Topsoil delivered and placed 1" – 4"	SY	540	\$14.00	\$7,560.00	\$10.75	\$5,805.00
14	329223	Sod delivered and placed	SY	540	\$10.00	\$5,400.00	\$10.00	\$5,400.00
15	312500	Inlet Protection—furnish, install, and remove.	EA	5	\$250.00	\$1,250.00	\$150.00	\$750.00

					Grand Total		Grand Total	\$487,505.00
24	331217	Adjust water valve to grade	EΑ	3	\$250.00	\$750.00	\$150.00	\$450.00
23	333915	Adjust manhole to grade	EΑ	3	\$500.00	\$1,500.00	\$950.00	\$2,850.00
22	321650	Furnish and place concrete for sidewalk utility cut.	SY	100	\$117.75	\$11,775.00	\$67.50	\$6,750.00
21	321313	Furnish and place 8"- 10" (high-early) concrete for pavement utility cut	SY	150	\$200.00	\$30,000.00	\$95.00	\$14,250.00
20	321313	Furnish and place 8"-10" concrete for pavement utility cut	SY	300	\$190.00	\$57,000.00	\$85.00	\$25,500.00
19	321655	Barrier Free Ramp Per City of Frisco Specs.	EA	2	\$3,000.00	\$6,000.00	\$1,800.00	\$3,600.00
18		Barrier Free Ramp Type 5, 20, OR 22	EA	2	\$3,000.00	\$6,000.00	\$1,800.00	\$3,600.00
17		Barrier Free Ramp Type 2, 3, 6, OR 11	EA	2	\$2,750.00	\$5,500.00	\$1,400.00	\$2,800.00
16		Barrier Free Ramp Type 1, 7, 10, OR 21	EA	2	\$2,500.00	\$5,000.00	\$1,400.00	\$2,800.00

Part 2

1. Southbound Teel Parkway before Blackstone, outside lane. Maximum of 15 calendar days for completion.

Item	City Spec.	Description	Unit	Est. Qty	Unit Price	Extend Price	Delivery in Days	Unit Price	Extend Price	Delivery in Days
1a	17113	Mobilization	LS	1	\$0.00	\$0.00	0	\$1,500.00	\$1,500.00	10
1b	312500	Inlet Protection (Install/Maintain/Remove)	EΑ	1	\$250.00	\$250.00	0.5	\$250.00	\$250.00	10
1c	321116	Flexible Base (Compacted in place to 12")	SY	300	\$47.00	\$14,100.00	4	\$20.00	\$6,000.00	10
1d	371313	Reinforced Concrete Pavement (6"- 8") (Remove and Replace)	SY	300	\$106.00	\$31,800.00	4	\$115.00	\$34,500.00	10
1e	321613	Concrete Curb and Gutter (Remove and Replace)	LF	215	\$7.00	\$1,505.00	0.5	\$9.75	\$2,096.25	10
1f	329223	Sod	SY	50	\$10.00	\$500.00	0.5	\$10.00	\$500.00	10
1g	32919	Topsoil (4")	SY	50	\$14.00	\$700.00	0.5	\$10.75	\$537.50	10
					Subtotal 1	\$48,855.00	10	Subtotal 1	\$45,383.75	10

2. Southbound Teel Parkway before The Trails Parkway, inside lane. Maximum of 15 calendar days allowed for completion.

Item	City Spec.	Description	Unit	Est. Qty	Unit Price	Extend Price	Delivery in Days	Unit Price	Extend Price	Delivery in Days	
2a	17113	Mobilization	LS	1	\$0.00	\$0.00	0	\$1,500.00	\$1,500.00	10	
2b	321116	Flexible Base (Compacted in place to 12")	SY	200	\$47.00	\$9,400.00	3	\$20.00	\$4,000.00	10	
2c		Reinforced Concrete Pavement (6"- 8") (Remove and Replace)	SY	200	\$106.00	\$21,200.00	3	\$115.00	\$23,000.00	10	
2d	321613	Concrete Curb and Gutter (Remove and Replace)	LF	148	\$7.00	\$1,036.00	1	\$9.75	\$1,443.00	10	
2e	329119	Topsoil (4")	SY	33	\$14.00	\$462.00	0.5	\$10.75	\$354.75	10	
2f	329223	Sod	SY	33	\$10.00	\$330.00	0.5	\$10.00	\$330.00	10	
					Subtotal 2	\$32,428.00	8	Subtotal 2	\$30,627.75	10	
	3 Reartooth Drive between Chase Oaks Ct and Castle Pines, both lanes. Maximum of 20 calendar days allowed for completion										

3. Beartooth Drive between Chase Oaks Ct and Castle Pines, both lanes. Maximum of 20 calendar days allowed for completion.

Item	City Spec.	Description	Unit	Est. Qty	Unit Price	Extend Price	Delivery in Days	Unit Price	Extend Price	Delivery in Days
3a	17113	Mobilization	LS	1	\$0.00	\$0.00	0	\$1,500.00		
3b	312500	Inlet Protection (Install/Maintain/Remove)	EA	1	\$250.00	\$250.00	0.5	\$250.00	\$250.00	15
3c	321116	Flexible Base (Compacted in place to 12")	SY	348	\$47.00	\$16,356.00	4	\$20.00	\$6,960.00	15
3d	371313	Reinforced Concrete Pavement (6"- 8") (Remove and Replace)	SY	348	\$106.00	\$36,888.00	8	\$115.00	\$40,020.00	15
Зе	321613	Concrete Curb and Gutter (Remove and Replace)	LF	261	\$7.00	\$1,827.00	1	\$9.75	\$2,544.75	15
3f		Reinforced Concrete Sidewalk (4") (Remove and Replace)	SY	130	\$78.50	\$10,205.00	3	\$83.25	\$10,822.50	15
3g	329119	Topsoil (4")	SY	58	\$14.00	\$812.00	0.5	\$10.75	\$623.50	15
3h	329223	Sod	SY	58	\$10.00	\$580.00	0.5	\$10.00	\$580.00	15
3i		Provide Temporary Mailbox	EA	6	\$250.00	\$1,500.00	0.5	\$100.00	\$600.00	15
					Subtotal 3	\$68,418.00	18	Subtotal 3	\$63,900.75	15

4. Quail Hollow Road between Lebanon Road and Park Ridge Drive, NB side. Maximum of 30 calendar days allowed for completion.

Item	City Spec.	Description	Unit	Est. Qty	Unit Price	Extend Price	Delivery in Days	Unit Price	Extend Price	Delivery in Days
4a	17113	Mobilization	LS	1	\$0.00	\$0.00	0	\$1,500.00	\$1,500.00	30
4b	321116	Flexible Base (Compacted in place to 12")	SY	1435	\$47.00	\$67,445.00	12	\$20.00	\$28,700.00	30
4c	321313	Reinforced Concrete Pavement (6"- 8") (Remove and Replace)	SY	1435	\$106.00	\$152,110.00	12	\$115.00	\$165,025.00	30
4d	321613	(Concrete Curb and Gutter (Remove and	LF	800	\$7.00	\$5,600.00	0.5	\$9.75	\$7,800.00	30
4e	329119	Topsoil (4")	SY	100	\$14.00	\$1,400.00	0.5	\$10.75	\$1,075.00	30
4f	329223	Sod	SY	100	\$10.00	\$1,000.00	0.5	\$10.00	\$1,000.00	30

4g	333915	Precast Manhole (Adjust Grade)	EA	1	\$500.00	\$500.00	0.5	\$950.00	\$950.00	30				
					Subtotal 4	\$228,055.00	26	Subtotal 4	\$206,050.00	30				
	5. Alley between King Arthur and Lancelot, from Camelot going north. Maximum of 15 calendar days allowed for completion.													
Item	City Spec.	Description	Unit	Est. Qty	Unit Price	Extend Price	Delivery in Days	Unit Price	Extend Price	Delivery in Days				
5a	17113	Mobilization	LS	1	\$0.00	\$0.00	0	\$1,500.00	\$1,500.00	15				
5b	312500	Inlet Protection (Install/Maintain/Remove)	EA	1	\$250.00	\$250.00	0.5	\$250.00	\$250.00	15				
5c	.3/1.51.5	Reinforced Concrete Pavement (6"- 8") (Remove and Replace)	SY	30	\$106.00	\$3,180.00	1	\$115.00	\$3,450.00	15				
5d	321313	Alley Pavement Removal and Replacement	SY	459	\$97.00	\$44,523.00	9	\$95.00	\$43,605.00	15				
5e	3/1613	Concrete Curb and Gutter (Remove and Replace)	LF	40	\$7.00	\$280.00	0.5	\$9.75	\$390.00	15				
5f	329119	Topsoil (4")	SY	30	\$14.00	\$420.00	0.5	\$10.75	\$322.50	15				
5g	329223	Sod	SY	30	\$10.00	\$300.00	0.5	\$10.00	\$300.00	15				
					Subtotal 5	\$48,953.00	12	Subtotal 5	\$49,817.50	15				
					Grand Total (1-5)	\$426,709.00		Grand Total (1-5)	\$395,779.75					